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 A(·) �	�
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���������� �	����� 
	��

x(m+ 1) = A(m)x(m), m ∈ Z, x ∈ R
n,
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����� R 
��������� �	���� 
	��

y(m+ 1) = A(m)R(m)x(m), m ∈ Z, y ∈ R
n,

� 
����� �����	������	 �� Z ����	���	 R(·)� 	 ��� ���
������ Rδ � ����	���	 R(·)� ���
���
��"#
��	�	 ����
� supm∈Z

‖R(m) − E‖ < δ� ��� δ > 0� &�
������ ��� ���	 ��
������	 !"����
� 	� �����
�	����� ������	
�� �� ���
�������� �������
� λ(R)� ��
������� 
����� R� ��
������ � �������
��

�� ����"������� �� 
��������	� ��$���
 	� n �	���� ��	 ���� ��" 
������ Δ > 0 ������
��� ��
��
� = �(Δ) > 0� ��� ��" ��$��� δ < Δ ���
�������� �������
� λ(R�δ) ������	� 
 ��$� δ#�
���������
������� ���
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����� R
n � ������ � �! ��!"#��� !"$%�!# ��� n � &����! �"##
%  !� # !%�! �"##
%

'"$�� % e1, . . . , en � ��"#�"!�# ( # !% ( ‖ · ‖� )�!�$ Mn(R) '���%  ' $#"*"�� �! ��!"#��� 
��+�����##
, %"�!�- !"$%�!# ��� n × n � �����!"��# ( # !% (. �� ��  ��!"� !# ( # !% (.
�#��-�!��% ( � Mn(R) ������ � ( # !% ( � R

n/ E ∈ Mn(R) � ���#�*#"0 %"�!�-"� �# 1�2
��� ���, �� !0� *�##
, � � $!"��"#�3 #"' ! � �$ n ��+�����##
, *���� '���%  ' $#"*"��
R
n
�� ��0 &����! �"## 4 #"' !" μ = (μ1, . . . , μn) ∈ R

n
� � �! �$� ��# 4 δ > 0 *�!�$ Oδ(μ)

 ' $#"*�% � � ���# ��� ���, �"��, #"' ! � ν = (ν1, . . . , νn) ∈ R
n
�. *� max

j=1,...,n
|νj − λj(A)| < δ�

�"��%  '!"$ %. Oδ(μ) � 5� δ2 �!���# ��� #"' !" μ � %# 1����� R
n
��

6�# �#
%  '7��� % ������ �"#�( 0��0���0 ��#�(#"0  �# ! �#"0 �����%" � ����!��#
%
�!�%�#�%

x(m+ 1) = A(m)x(m), 8	9

4�� "!4�%�#�m �! '�4"�� %# 1���� Zm0 -��
, $#"*�#�(. #� %�#�:�, &����! �"## 4 m0 ∈ Z/
#��$����#"0 &�#�-�0 x �!�#�%"�� $#"*�#�0 � R

n/ � 5&&�-��#� A(m) �!� �"1� % m �!�2
#"���1�� �! ��!"#���� Mn(R)� ��3�� #�1� '���% �!��� �"4"��. *� &�#�-�0 A(·) ������
���	�
���	 ;	<. � ���� �!� �"1� % m ��+������� A−1(m). � #"(����0 �"� � a. *� 

sup
m�m0

(‖A(m)‖ + ‖A−1(m)‖) � a.

="%���%. *� �!� ���, m �
� �#�#
 #�!"��#���"

‖A(m)‖ + ‖A−1(m)‖ � ‖A(m)‖ + ‖A(m)‖−1 � 2,

������� ����	
�
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�
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� 5� %� a � 2�

��0 �! �$� ��# 4 #��!���"��# 4 !�:�#�0 x(·) �����%
 8	9  �!�����% �4 ���	
	����
�������	 !"��#��� %

λ[x]
.
= lim

m→∞m−1 ln ‖x(m)‖

�  ' $#"*�% *�!�$ Λ ������ ���	
	����� �������	 �����%
 8	9. � ���� %# 1���� ���, λ ∈ R.
��0 �"1� 4 �$ � � !
, ��+������� #��!���"��# � !�:�#�� x(·) �����%
 8	9 � � �"$"����% λ�
�$����# ;�. �� �	A��<. *� %# 1���� Λ � �� �� #� ' ���. *�% �$ n !"$��*#
, *���� � !"�� 2
� 1�# #"  �!�$�� [− ln a, ln a]� ����� Λ = {Λ1, . . . ,Λp}. 4�� Λ1 < . . . < Λp. p � n� � �"$"����
B0��# �" �!���"��# 4 !�:�#�0 �����%
 8	9 � �"4"�% !"�#
% −∞�

��0 �"1� 4 j ∈ {1, . . . , p} !"��% �!�% %# 1���� Ej ���, !�:�#�( �����%
 8	9. � �"$"2
���� � � !
, #� �!�� �, �0� Λj � �# 1���� E0 �*��"�% � �� 0+�% �$ �!���"��# 4 !�:�#�0
�����%
 8	9� � 4�" ;�. �� �C< �"1� � �$ %# 1���� Ej 0��0���0 ��#�(#
% � ��! ��!"#��� %.
�%�3� %��� ��! 4�� �� 1�#�0 E0 ⊂ E1 ⊂ . . . ⊂ Ep � #�!"��#���"

0 = dimE0 < dimE1 < . . . < dimEp = n.

� � 1�%

nj = dimEj − dimEj−1, j = 1, . . . , p.

>"$ ��% nj ��	������� � �"$"���0 Λj � ="%���%. *� n1 + . . . + np = n� >"' ! n *����
Λ1, . . . ,Λ1, . . . ,Λp, . . . ,Λp. 4�� �"1� � Λj � �� !0���0 nj !"$. #"$
�"���0 ������ �������� ���
�	
	����� �������	 �����%
 8	9� � �"��#�(:�% '���%  ' $#"*"�� �4 

λ(A) =
(
λ1(A), . . . , λn(A)

)
,

�*��"0 �!� 5� %. *� λ1(A) � λ2(A) � . . . � λn(A)� �"��%  '!"$ %. λ(A) ∈ R
n
��

>"� '���� �#��!�� �"�� � �! �  � ����#�� � �# 4 �����!" � �"$"����( B0��# �" �����2
%
 8	9 � � ��(�����% !"$��*#
, � $%�+�#�( �� � 5&&�-��#� ��

����������� � ����� $"&����! �"# #�� � !
( ��"�� � $%�+�#�( %"�!�-
 � 5&&�-��#2
� � A(·) �����%
 8	9� ������	����� ���������� �����%
 8	9.  ���*"3+�% $"�"## %� ��"���
� $%�+�#�(. '���% #"$
�"�� � � ���# ��� � �#
, �����! � � �"$"����( B0��# �" � $%�+�#2
#
, �����%. � 4�" � $%�+�#�0 �! '�4"3� ���� $"�"##
( ��"���

@#"*"�" !"��% �!�% � $%�+�##�3 �����%� � ����

y(m+ 1) =
(
A(m) +Q(m)

)
y(m), m ∈ Zm0 , y ∈ R

n. 8�9

@����%� 8�9 '���% #"$
�"�� 	��
�
��� ��
�������� �  �# :�#�3 � �����%� 8	9. " �"%� � $2
%�+�#�0 Q(·) � 	��
�
����
� )� '
 � $%�+�##"0 �����%" 8�9  '�"�"�" � �#
% �����! %
� �"$"����( B0��# �". � �� 0+�% �$ n *����. � ��"� *# � �!�' �"��  � "������# 4 � $2
%�+�#�0 Q(·) � �# (  4!"#�*�## ��� %"�!�-
 A(·) + Q(·)� � 5� ( �!�*�#� �����% � #0���
� �����% 4 "������# 4 � $%�+�#�0�

����������� ! �������# � � $%�+�#�� Q(·) '���% #"$
�"�� ������
��� ��0 �����2
%
 8	9. ���� %"�!�-" A(·) +Q(·) �� �#�  4!"#�*�#" #" Zm0 �


�""# � ���
�
���� ��
�����
� Q(·) ������
�� ��� �
����� 8	9 � ��� 
 ������ � ���
����	�� ����	 ���������� �	�	� ������ ���	�
����	� �	��
�	 R : Zm0 →Mn(R)� ���

Q(m) = A(m)R(m)−A(m), m ∈ Zm0 . 8D9
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�  � " $ " � � � � � � �  � > �  ' ,  � � %  � � �� ����� "������# � � $%�+�#�� Q(·)
� �����% ��0 8	9� � � 1�%

R(m) = A−1(m)
(
A(m) +Q(m)

)
, m ∈ Zm0 .

� 4�" !"��#��� 8D9 �
� �#�# . " �$ � �# (  4!"#�*�## ��� %"�!�- A(·) � A(·)+Q(·) �
���"��
� �#"0  4!"#�*�## ��� R(·)�

�  � � " �  * #  � � �� ����� R(·) �� �#�  4!"#�*�#"� 6�!�����% %"�!�-� Q(·) !"��#2
��� % 8D9� � 4�"

A(m) +Q(m) = A(m)R(m), m ∈ Zm0 , 8C9

� � �#"0  4!"#�*�## ��� %"�!�-
 A(·) +Q(·) �
���"�� �$ � �# (  4!"#�*�## ��� A(·) � R(·)�
B�%%" � �"$"#"�

E"��#��� 8C9 � $� �0�� $"���"�� � $%�+�##�3 �  �# :�#�3 � 8	9 �����%� � ����

y(m+ 1) = A(m)R(m)y(m), m ∈ Zm0 , y ∈ R
n. 8�9

�"�!�-� R(·) � 5� % ���*"� #"$
�"�% �����
��
�	�
���� ��
�����
�� �����%
 8	9. " �"%�
�����%� 8�9 � �����
��
�	�
��� ��
�������� �  �# :�#�3 � �����%� 8	9� ���� %"�!�-"
A(·)R(·) �� �#�  4!"#�*�#". � � �#
( �����! � �"$"����( B0��# �" � $%�+�## ( �����%
 8�9
� �� �� �$ n *����� �"� �"� � ��� ��3 %"�!�-" A(·) �� �#�  4!"#�*�#". � �!�, ��% � ���2
��3+�%�  �!�����#�3�

����������� $ ����������"���# � � $%�+�#�� R(·) '���% #"$
�"�� ������
���. ����
%"�!�-" R(·) �� �#�  4!"#�*�#" #" Zm0 �

�$ ��%%
 	 �  �!�����#�( � � D �
���"�� ����������

����%&'�� �  �������� Q ���! ������
�� 	��
�
��� ��
�������! �
���� �
�	 8�9
����	�	�� �� ���������� R ���! ������
�� �����
��
�	�
��� ��
�������! �
���� �
�
�	 8�9"

����!� !"��% �!�% � �%# 1����" %# 1���� Q � R� ��0 �! �$� ��# 4 δ > 0  ' $#"*�%
*�!�$ Qδ %# 1���� ���, � �����% "������# � $%�+�##
, �����% ���" 8�9. � $%�+�#�0
Q(·) � � !
, �� ����� !03� #�!"��#���� supm�m0

‖Q(m)‖ < δ, " *�!�$ Rδ � %# 1���� ���,
� �����% %���������"���# � $%�+�##
, �����% ���" 8�9. � $%�+�#�0 R(·) � � !
, �� ���2
�� !03� #�!"��#���� supm�m0

‖R(m)− E‖ < δ.


�""# ! #�� �	����� δ > 0 ���	����
�� �������
� Qδ ⊂ Raδ� Rδ ⊂ Qaδ"

�  � " $ " � � � � � � �  � � �"1�% �#"*"�" ��!� � ���3*�#��� ����� � �����% � "������2
# � � $%�+�#�� Q(·) �"� � . *� supm�m0

‖Q(m)‖ < δ� � 4�" �����%" 8�9 � %"�!�-�( � 5&&�2
-��#� � A(·) +Q(·) �!�#"���1�� %# 1����� Qδ� � � 1�%

R(m) = E +A−1(m)Q(m), m ∈ Zm0 .

� 4�" �$ ��%%
 	 �������. *� R(·) � � �����% � %���������"���# � � $%�+�#��. �!�*�%
R(m)− E = A−1(m)Q(m). � 5� %� supm�m0

‖R(m)− E‖ < aδ� F�  $#"*"��. *� �����%" 8�9 �
%"�!�-�( � 5&&�-��#� � A(·)R(·) �!�#"���1�� %# 1����� Raδ � > �!� ���, m ��!"������

!"��#���" A(m)R(m) = A(m) +Q(m).  ����" �
���"�� � �"$
�"�% � ���3*�#���

����!� � �"1�% �� ! � ���3*�#��� ����� � �����% � %���������"���# � � $%�+�#�� R(·)
�"� � . *� supm�m0

‖R(m) − E‖ < δ� � 4�" �����%" 8�9 � %"�!�-�( � 5&&�-��#� � A(·)R(·)
�!�#"���1�� %# 1����� Rδ� 6�!�����% %"�!�-� Q(·) !"��#��� % 8D9� � 4�" �$ ��%%
 	 ���2
����. *� Q(·) � � �����% � "������# � � $%�+�#��. �!�*�%

sup
m�m0

‖Q(m)‖ � sup
m�m0

(‖A(m)‖ ‖R(m) − E‖) < aδ.
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F�  $#"*"��. *� �����%" 8�9 � %"�!�-�( � 5&&�-��#� � A(·) +Q(·) �!�#"���1�� %# 1�����
Qaδ� > �!� ���,m ��!"������
 !"��#���" A(m)R(m) = A(m)+Q(m). *� � � �"$
�"�� ��%%��

��0 �! �$� ��# 4 � �����% 4 "������# 4 � $%�+�#�0 Q(·)  ' $#"*�% *�!�$

λ(A+Q) =
(
λ1(A+Q), . . . , λn(A+Q)

) ∈ R
n
�

� �#
( �����! � �"$"����( B0��# �" �����%
 8�9� @����!"��# � %# 1���� �����%
 8	9.  �2
��*"3+�� ��"��� ���� $% 1#
, � �����%
, ��0 5� ( �����%
 "������#
, � $%�+�#�(. '�2
��%  ' $#"*"�� λ(Q)� �#"� 4�*# ��0 �! �$� ��# 4 δ > 0 � � 1�% λ(Qδ) � �����!"��# �
%# 1���� �����%
 8	9.  ���*"3+�� ��"��� � �����%
, "������#
, � $%�+�#�( Q(·). �� ���2
�� !03+�,  -�#�� supm�m0

‖Q(m)‖ < δ�
�"���. �����

λ(AR) =
(
λ1(AR), . . . , λn(AR)

) ∈ R
n
�

� � �#
( �����! � �"$"����( B0��# �" �����%
 8�9 ��0 �! �$� ��# 4 � �����% 4 %���2
������"���# 4 � $%�+�#�0 R(·)� @����!"��# � %# 1���� �����%
 8	9.  ���*"3+�� ��"���
���� $% 1#
, %���������"���#
, � $%�+�#�(.  ' $#"*"�% λ(R). " ��0 �! �$� ��# 4 δ > 0
� � 1�% λ(Rδ) � �����!"��# � %# 1���� �����%
 8	9.  ���*"3+�� ��"��� � �����%
, %���2
������"���#
, � $%�+�#�( R(·). �� ����� !03+�,  -�#�� supm�m0

‖R(m)− E‖ < δ�
� 4�" �$ ��������0 	 � ��%%
 � � ��*"�% �"� � ����!1��#���

����%&'�� !  �������	 λ(Q) 
 λ(R) ����	�	��" #�� �	����� δ > 0 
���� �����
�������
� λ(Qδ) ⊂ λ(Raδ)� λ(Rδ) ⊂ λ(Qaδ)"

>":" $"�"*" � ������ �"�� �����!"��#
� %# 1����" λ(R) � λ(Rδ)� � 5� ( ��"��� � ��"�2
��##"0 $"�"*" !�:"���0 ��0 ���*"0. � 4�" � �"$"���� B0��# �" �����%
 8	9 ��� (*��
�

����������� ( � �"$"���� B0��# �" �����%
 8	9 #"$
�"3��0 ������
���
. ���� ��0
�"1� 4 ε > 0 #"(����0 �"� � δ > 0. *� ��0 ��0� ( "������# � $%�+�## ( �����%
 ���" 8�9
�$ %# 1����" Qδ �
� �#�#
 #�!"��#���"

|λi(A)− λi(A+Q)| < ε, i = 1, . . . , n,

� ���� �%��� %��� ���3*�#�� λ
(Qδ

) ⊂ Oε

(
λ(A)

)
�

6�!�����#�� C �!����"��0�� � ' ( #�� �!������##
( ��!�# � #" ��#�(#
� �����%
 � ���2
�!��#
% �!�%�#�% "#"� 4�*# 4  �!�����#�0 ��0 ��#�(#
, �����% � #��!�!
�#
% �!�%�#�%
8�%�. #"�!�%�!. ;D. �� ��<9�

�$ ��%%
 � �
���"��. *�  �!�����#�� C 5����"��#�# �����3+�%�  �!�����#�3�

����������� ) � �"$"���� B0��# �" �����%
 8	9 #"$
�"3��0 ������
���
. ���� ��0
�"1� 4 ε > 0 #"(����0 �"� � δ > 0. *� ��0 ��0� ( %���������"���# � $%�+�## ( �����%

���" 8�9 �$ %# 1����" Rδ �
� �#�#
 #�!"��#���"

|λi(A)− λi(AR)| < ε, i = 1, . . . , n,

� ���� �%��� %��� ���3*�#�� λ
(Rδ

) ⊂ Oε

(
λ(A)

)
�

����� X(m, s) � %"�!�-" � :� �����%
 8	9. � ���� �"� �  � '!"1�#�� X : Zm0 × Zm0 →
Mn(R). *� ��0 �"1� 4 !�:�#�0 x(·) 5� ( �����%
 �%��� %��� !"��#��� 

x(m) = X(m, s)x(s) ��0 ���, m ∈ Zm0 , s ∈ Zm0 .

� 4�" ;�. �� 	DA	C<

X(m, s) =

⎧⎪⎪⎨
⎪⎪⎩

m−1∏
l=s

A(l) �!� m > s,

E �!� m = s,
X−1(s,m) �!� m < s.



6 �����!"��# % %# 1����� ��#�(# ( ����!��# ( �����%
 	�

���������� ��	
� �� �
� �
�� 	

=���� � ��3�� #�1� � �"4"�%

m−1∏
l=s

A(l) = A(m− 1)A(m − 2) · . . . · A(s). � ���� %"�!�-
 ��!�2

%# 1"3��0 � � !0��� �'
�"#�0 �#����"�
� "#"� 4�� � �����%"%� � #��!�!
�#
% �!�%�#�%. �����% � #0��0 -�#�!"��#
, � �"$"2

����( �����%
 8	9� F�� � �"$"���� �4!"3� ��3*���3 ! �� � � ����#�� � �"$"����( B0��# �"
�!� � $%�+�#�0, � 5&&�-��#� � �����%
 8	9�

����������� * $��!�
� �����	����� ���	
	����� 8��# 4!"�"9 �����%
 8	9 '���% #"2
$
�"�� ����*�#�

Ω(A) = lim
T→∞

lim
m→∞

1

mT

m∑
j=m0+1

ln
∥∥X(

jT, (j − 1)T
)∥∥ = lim

T→∞
lim

m→∞
1

mT

m∑
j=m0+1

ln
∥∥ jT−1∏
l=(j−1)T

A(l)
∥∥,

��	�%
� �����	����� ���	
	����� 8����� #+�� �"9 � ����*�#�

ω(A) = lim
T→∞

lim
m→∞

1

lT

m∑
j=m0+1

ln
∥∥X(

(j − 1)T, jT
)∥∥−1

= lim
T→∞

lim
m→∞

1

mT

m∑
j=m0+1

ln
∥∥∥(

jT−1∏
l=(j−1)T

A(l)
)−1

∥∥∥−1
.

����*�#
 T � m $���� �*��"�% �! '�4"3+�%� N � Zm0 �  ��������## �

�#"�+#��� � � #0��� ��!,#�4 -�#�!"��# 4 � �"$"���0 ��0 �����% � #��!�!
�#
% �!�2
%�#�% '
� �����# E�F� ��# 4!"� % � !"' �� ;C<. " � #0��� %�"�:�4 -�#�!"��# 4 � �"$"2
���0 � ���� ����� #+�� �
% � !"' �� ;�<�

����������� , &���'�	
��	�
�� �������	 �����%
 8	9 #"$
�"���0 ��#�(# � �!� '!"$ 2
�"#�� ���"

z = L(m)x, 8
9

4�� %"�!�-" L : Zm0 →Mn(R) �� �#�  4!"#�*�#"� �"�!�-" L(·) �!� 5� % #"$
�"���0 �	��
�
��� �������	�

�#"�+#��� ! �!� '!"$ �"#�� 8
9 ��!�� ��� �����%� 8	9 � �����%�

z(m+ 1) = L(m+ 1)x(m+ 1) = L(m+ 1)A(m)x(m) = L(m+ 1)A(m)L−1(m)z(m) 8�9

� �� �#�  4!"#�*�## ( %"�!�-�( � 5&&�-��#� �. � ,!"#00 �!� 5� % �"��� "��%�� ��*�����
8�!� m → ∞9 ,"!"���!������ �����%
. �"� � �#
( �����! � �"$"����( B0��# �". -�#�!"��2
#
� � �"$"����. �� (��� ��� (*�� ��� � ����

� 1# � �"$"��. *� ��0 ��#�(#
, �����% � ����!��#
% �!�%�#�% �%��� %��� �����3+�(
�!���!�( ��� (*�� ��� � �"$"����( B0��# �"� ��0 �����% � #��!�!
�#
% �!�%�#�%  # '
�
���"# ���# ���� ����� #+�� �
% � !"' �� ;
< � ?�H� ?
� �
%. >��� �$ ' �
% � !"' �� ;�<�

��-��"# � &��	
	���
 �������	 �
����� 8	9 ������
�� ����	 
 ������ ����	� ����	
���������� ����'�	
��	�
� �������	 8
9� ��
������� �
����� 8	9 � �
�����

z(m+ 1) = D(m)z(m), m ∈ Zm0 , z ∈ R
n, 8G9

� '�������
	���	����� �	��
��� D(m) = diag
(
D1(m), . . . ,Dp(m)

)
� �'�	�	���� �������
�


�������	�
(

1) ��� �	����� j ∈ {1, . . . , p} �	��
�	 Dj(m) �
���� ���������	� �	
���	�
 nj × nj;
2) 
���� ����� �	������	 Ω(Dj) = ω(Dj) = Λj , j = 1, . . . , p;
3) '���
 D1(·), . . . Dp(·) 
�����	���� ��������� �� ���� ���������� �	�
� α > 1 
 γ > 0�
��� ��
 ���! m > s 
 j ∈ {1, . . . , p − 1} ���	����
�� ���	������	

∥∥∥(
m−1∏
l=s

Dj+1(l)
)−1

∥∥∥−1
� γαm−s

∥∥∥
m−1∏
l=s

Dj(l)
∥∥∥.



�� ��>� ?"#+�� �". @�>� � � �"

���������� ��	
� �� �
� �
�� 	

�#"�+#��� $ �$ �� (���" 2) �� !�%
 	 �
���"�� 8�%� ;
. �<9. *� ��"4 #"��#
� 5��%�#�

dii(m) %"�!�-
 D(m) �"� �
. *� �!� ���, j ∈ {1, . . . , p} � i ∈ nj

dii
.
= lim

m→∞m−1
m−1∑
l=m0

ln |dii(l)| = Λj ;

$"���� i ∈ nj $���� � #�1�  $#"*"��. *� i ∈ {n0 + . . .+ nj−1 + 1, . . . , n0 + . . .+ nj}, 4�� n0 .
= 0�

>"� '���� �#��!�� �"�� � ����#�� !�:�#�( #�1#�, �!��4 ��#
, �����%� � �"1�% �#"*"�"
 �# ����!1��#��. �"�"3+���0 ��"�0!# 4 ��#�(# 4 #� �# ! �# 4 �!"�#�#�0

ϕ(m+ 1) = a(m)ϕ(m) + g(m), m ∈ Zm0 , ϕ ∈ R, 8�9

4�� &�#�-�0 a : Zm0 → R �� �#�  4!"#�*�#"� � � 1�% h(m) =

m−1∏
l=m0

a(l) �!� m > m0 �

h(m0) = 1�

�&'��.����� � )'��� ��%��
� ��	����
� 8�9 
���� �
�

ϕ(m;C) = h(m)
(
C +

m−1∑
s=m0

h−1(s+ 1)g(s)
)
, m ∈ Zm0 , C ∈ R;


���� ��
�	��� ���

m−1∑
s=m0

h−1(s+ 1)g(s) = 0 ��
 m = m0"

�  � " $ " � � � � � � �  � 6*����# . *�  '+�� !�:�#�� ��#�(# 4  �# ! �# 4 �!"�#�#�0

ϕ(m+ 1) = a(m)ϕ(m), m ∈ Zm0 , ϕ ∈ R, 8	�9

�%��� ��� ϕ0(m;C) = h(m)C.m ∈ Zm0 . C ∈ R� 6'+�� !�:�#�� �!"�#�#�0 8�9 ���� ��%%"  '+�4 
!�:�#�0 �!"�#�#�0 8	�9 � *"��# 4 !�:�#�0 �!"�#�#�0 8�9� ��0 � ���" *"��# 4 !�:�#�0
�!"�#�#�0 8�9 � �� ��$��%�0 %�� � % �"!�"-�� �! �$� ��# ( � �� 0## ( � 5� !�:�#�� '���%
���"�� � ���� ϕ(m) = h(m)C(m). 4�� C : Zm0 → R � #��$����#"0 &�#�-�0� ����� C(m0) = 0�
� �"1�% �#���-��( � m > m0. *� 

C(m) =

m−1∑
s=m0

h−1(s + 1)g(s). 8		9

��(��������# . ϕ(m0) = 0. ϕ(m0 + 1) = h(m0 + 1)C(m0 + 1) �. � ���� 8�9. ϕ(m0 + 1) =
a(m0)ϕ(m0) + g(m0) = g(m0). � 5� %� C(m0 + 1) = h−1(m0 + 1)g(m0). � ���� !"��#��� 8		9
�!� m = m0 + 1 �
� �#�# �

����� !"��#��� 8		9 ���"# ���# �!� #�� � ! % m > m0� � �"1�% �4 ��0 m+1� �"� �"�

ϕ(m+1) = h(m+1)C(m+1) = a(m)ϕ(m)+g(m) = a(m)h(m)C(m)+g(m) = h(m+1)C(m)+g(m),

� 

C(m+ 1) = C(m) + h−1(m+ 1)g(m) =

m∑
s=m0

h−1(s+ 1)g(s).

����!1��#�� � �"$"# �

����%&'�� $ #�� �	����� ��%��
� ϕ(·) ��	����
� 8�9 
���� ����� �	�������

ϕ(m) = h(m)
(
ϕ(m0) +

m−1∑
s=m0

h−1(s + 1)g(s)
)
, m ∈ Zm0 .
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 �	

���������� ��	
� �� �
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�� 	

E"��% �!�% ����!� ��#�(#�3  �# ! �#�3 �����%� � ����!��#
% �!�%�#�%

y(m+ 1) = F (m)y(m), m ∈ Zm0 , y ∈ R
k, 8	�9

� �� �#�  4!"#�*�## ( #" Zm0 #�1#�( �!��4 ��# ( %"�!�-�( F (m) = {fij(m)}ki,j=1� � � 1�%

hi(m) =

m−1∏
l=m0

fii(l) �!� m > m0 � hi(m0) = 1�

@����%� 8	�9 � ��"��% � �  ��������� �����%�

ϕ(m+ 1) = F̂ (m)ϕ(m), m ∈ Zm0 , ϕ ∈ R
k, 8	D9

%"�!�-" F̂ � � ! ( �%��� ���

F̂ (m) =

⎛
⎜⎜⎜⎝

|f11(m)| 0 . . . 0
1 |f22(m)| . . . 0
���

���
� � �

���
1 1 . . . |fkk(m)|

⎞
⎟⎟⎟⎠ .

E"��% �!�% �"�1� %���������"���# � $%�+�##�3 �  �# :�#�3 � 8	�9 �����%�

z(m+ 1) = F (m) diag
(
eμ1 , . . . , eμk

)
z(m), m ∈ Zm0 , z ∈ R

k. 8	C9


�""# $ &���� j ∈ {1, . . . , k} *
��
���	��� ϕ(·) = col
(
ϕ1(·), . . . , ϕk(·)

)
+ ��%��
� �
����

�� 8	D9 � �	�	����� �����
�� ϕ(m0) = ej " ,���	 ��� ���

�������� �	'��	 �
��� μ1 � . . . � μk
�����
�	�� ��%��
� z(·) = col

(
z1(·), . . . , zk(·)

)
�
����� 8	C9 � �	�	����� �����
�� z(m0) = ej

������������� �����	�

|zi(m)| � αi−jeμj(m−m0)ϕi(m), i ∈ {1, . . . , k}, m ∈ Zm0 , 8	�9

��� α
.
= sup{1; |fij(m)|, i, j = 1, . . . , k, m ∈ Zm0}"

�  � " $ " � � � � � � �  � ="&����!��% j ∈ {1, . . . , k}� >"(��% �  !��#"�
 ϕi(·) !�:�#�0
ϕ(·) �����%
 8	D9. �� ����� !03+�4 #"*"��# %� ��� ��3 ϕ(m0) = ej �

�!� ���, i ∈ {1, . . . , j − 1}I ϕi(m) ≡ 0� �  !��#"�" ϕj(·) 0��0���0 !�:�#��% $"�"*� � :�
ϕj(m + 1) = |fjj(m)|ϕj(m). ϕj(m0) = 1. � 5� %� ϕj(m) = |hj(m)|, m ∈ Zm0 . � �!� i > j
�  !��#"�" ϕi(·) �� ����� !0�� ��#�(# %� #� �# ! �# %� �!"�#�#�3

ϕi(m+ 1) = |fii(m)|ϕi(m) +
i−1∑
l=j

ϕl(m)

� #"*"��# %� ��� ��3 ϕi(m0) = 0. � 5� %�. � ���� ��������0 D. ��!"������ !"��#��� 

ϕi(m) = |hi(m)|
m−1∑
s=m0

|h−1
i (s+ 1)|

i−1∑
l=j

ϕl(s), m ∈ Zm0 .

����!� '���% � �"$
�"��  -�#�� 8	�9�
	9 �!� i ∈ {1, . . . , j − 1}I |zi(m)| = ϕi(m) ≡ 0. � 8	�9 �
� �#�# �
�9 H�#�-�0 zj(·) 0��0���0 !�:�#��% $"�"*� � :� zj(m + 1) = fjj(m)eμjzj(m). zj(m0) = 1.

� 5� %�

zj(m) =
m−1∏
l=m0

fjj(l)e
μj = hj(m)eμj (m−m0), m ∈ Zm0 ,

|zj(m)| = |hj(m)|eμj (m−m0) = ϕj(m)eμj (m−m0),



�� ��>� ?"#+�� �". @�>� � � �"

���������� ��	
� �� �
� �
�� 	

�  -�#�" 8	�9 �!� i = j  '!"+"���0 � � *# � !"��#��� �
D9 ����� #�!"��#��� 8	�9 � �"$"# �!� ���, i ∈ {j, . . . , p−1}. 4�� p ∈ {j+1, . . . , k}� � �"1�%

�4 ��0 i = p� H�#�-�0 zp(·) 0��0���0 !�:�#��% $"�"*� � :�

zp(m+ 1) = fpp(m)eμpzp(m) +

p−1∑
l=j

fpl(m)eμlzl(m), zp(m0) = 0,

� 5� %�. � ���� ��������0 D.

zp(m) = hp(m)eμp(m−m0)
m−1∑
s=m0

h−1
p (s+ 1)e−μp(s+1−m0)

p−1∑
l=j

fpl(s)e
μlzl(s),

 ����"

|zp(m)| � |hp(m)|eμp(m−m0)
m−1∑
s=m0

|h−1
p (s+ 1)|e−μp(s+1−m0)

p−1∑
l=j

|fpl(s)|eμl |zl(s)| �

� |hp(m)|eμp(m−m0)
m−1∑
s=m0

|h−1
p (s+ 1)|e−μp(s+1−m0)α

p−1∑
l=j

eμlαl−jeμj (s−m0)ϕl(s) �

� |hp(m)|eμp(m−m0)
m−1∑
s=m0

|h−1
p (s+ 1)|e−μp(s+1−m0)α · αp−1−jeμjeμj(s−m0)

p−1∑
l=j

ϕl(s) =

= αp−j|hp(m)|eμp(m−m0)
m−1∑
s=m0

|h−1
p (s + 1)|e(μj−μp)(s+1−m0)

p−1∑
l=j

ϕl(s) �

� αp−j|hp(m)|eμp(m−m0)e(μj−μp)(m−m0)
m−1∑
s=m0

|h−1
p (s+ 1)|

p−1∑
l=j

ϕl(s) =

= αp−j|hp(m)|eμj (m−m0)
m−1∑
s=m0

|h−1
p (s + 1)|

p−1∑
l=j

ϕl(s) = αp−jeμj(m−m0)ϕp(m), m ∈ Zm0 .

B�%%" � �"$"#"�
����� F0(·) = diag

(
f11(·), . . . , fkk(·)

)
� %"�!�-" ��"4 #"��# 4 �!�'��1�#�0 ��0 %"�!�-


F (·) �����%
 8	�9� ="%���%. *� 

Ω(F0) = lim
T→∞

lim
m→∞

1

mT

m∑
j=m0+1

ln
∥∥ jT−1∏
l=(j−1)T

F0(l)
∥∥ = lim

T→∞
lim

m→∞
1

mT

m∑
j=m0+1

max
i=1,...,k

jT−1∑
l=(j−1)T

ln |fii(l)|,

ω(F0) = lim
T→∞

lim
m→∞

1

mT

m∑
j=m0+1

ln
∥∥∥(

jT−1∏
l=(j−1)T

F0(l)
)−1

∥∥∥−1
=

= lim
T→∞

lim
m→∞

1

mT

m∑
j=m0+1

min
i=1,...,k

jT−1∑
l=(j−1)T

ln |fii(l)|.

�#"� 4�*# ���*"3 �����% � #��!�!
�#
% �!�%�#�% ;G. �� 	��A	�	<. % 1# � �"$"��. *� -�#2
�!"��#
� � �"$"���� �!��4 ��#
, �����% � �����% �, ��"4 #"��# 4 �!�'��1�#�0 � ��"�"3�.
� 5� %� � #":�% ���*"� Ω(F ) = Ω(F̂ ) = Ω(F0). ω(F ) = ω(F̂ ) = ω(F0)�

��-��"# ! &���� �	��
�	 F (·) �
����� 8	�9 �	���	� ��� Ω(F0) = ω(F0) = λ. ,���	
��� ��'��� �	'��	 �
��� μ1 � . . . � μk ������ ������ ���	
	����� �������	 ��
��������
�
����� 8	C9 �����
� 

 �
��� λ+ μk � . . . � λ+ μ1"
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�  � " $ " � � � � � � �  � �$ ��� ��( �� !�%
 �������. *� � �"$"���� B0��# �" �����2
%
 8	�9 ��� (*��
. " �� � �#
( �����! � �"$"����( B0��# �" � �� �� �$ k *���� λ� �"��%�
1� �� (���"%�  '�"�"�� � �����%" 8	D9� 6��3�" �
���"��. *� � �"$"���� B0��# �" ��0� 4 
#��!���"��# 4 !�:�#�0 �����%
 8	D9 !"��# *���� λ� �! %� � 4 . ��0 ���, i ∈ {1, . . . , k}

fii
.
= lim

m→∞m−1
m−1∑
l=m0

ln |fii(l)| = λ.

="&����!��% �! �$� ��# � j ∈ {1, . . . , k} � !"��% �!�% !�:�#�0 z(·) = col(z1(·), . . . , zk(·))
� ϕ(·) = col(ϕ1(·), . . . , ϕk(·)) �����% 8	C9 � 8	D9 �  ��������## . �� ����� !03+�� #"*"��#
%
��� ��0% z(m0) = ϕ(m0) = ej � � 4�" �!� ���, i ∈ {1, . . . , k} ��!"������
 #�!"��#���" λ[ϕi] �
λ[ϕ] = λ� >"(��% � �"$"���� B0��# �" &�#�-�� z(·)� �$ ��%%
 D � ��*"�%. *� �!� ���,
i ∈ {1, . . . , k} �%�3� %���  -�#�� 8	�9. � 5� %�

λ[zi] = λ[|zi|] = λ[eμj (m−m0)] + λ[ϕi] � μj + λ,

�!� 5� %
λ[zj ] = λ[eμj (m−m0)] + λ[ϕj ] = μj + λ[|hj(m)|] =

= μj + lim
m→∞m−1 ln |hj(m)| = μj + lim

m→∞m−1 ln
m−1∏
l=m0

|fjj(l)| = μj + fjj = μj + λ.

@��� �"����# .
λ[z] = max

i=1,...,k
λ[zi] = λ+ μj.

� ��! �% &�#�"%�#�"��#�3 �����%� !�:�#�( Z(·) = {z1(·), . . . , zk(·)} �����%
 8	C9. �"��3.
*� zj(m0) = ej . j = 1, . . . , k� � 4�" λ[zj ] = λ + μj . �!�*�% 5� � � �"$"���� !�"��$����0 j2(
�  !��#"� ( !�:�#�0 zj(·)� � �"1�%. *� Z(·) #��1�%"�%" ;�. �� ��<. � ���� ��0 �3' ( #��!�2
��"��# ( ��#�(# ( � %'�#"-��

∑k
j=1 γjz

j(·) �, �0+�, � Z(·) !�:�#�( �%��� %��� !"��#��� 

λ
[ k∑
j=1

γjz
j
]
= max

j: γj �=0
λ[zj ].

����� γ = col(γ1, . . . , γk) ∈ R
k � �! �$� ��#
( #�#���� ( ���� !. � l ∈ {1, . . . , k} � #"�2

%�#�:�( �#����. ��0 � � ! 4 γl �= 0� E"��% �!�%

z(m) = Z(m)γ =

k∑
j=1

γjz
j(m) =

k∑
j=l

γjz
j(m).

� 4�"
λ[z] � max

j=l,...,k
λ[zj ] = λ+ μl.

@ �!�4 ( �� ! #
. &�#�"%�#�"��#"0 %"�!�-" Z(·) #�1#00 �!��4 ��#"0 8�%� � �"$"������� 
��%%
 D9. � 5� %� l20 �  !��#"�" zjl (·) !�:�#�0 zj(·) !"�#" � 1������## #��3 �!� ���, j > l.
� ��0 l2( �  !��#"�
 &�#�-�� z(·) ��!"������ !"��#��� 

zl(m) =

k∑
j=l

γjz
j
l (m) = γlz

l
l(m), m ∈ Zm0 .

� 4�" λ[z] � λ[zl] = λ[zll ] = λ+ μl� @��� �"����# .

λ[z] = λ+ μl = max
j: γj �=0

λ[zj ].

��"�. &�#�"%�#�"��#"0 �����%" !�:�#�( Z(·) #��1�%"�%"� > � 4�" � ���� �� !�%
 B0��2
# �"  # !%"��# ��� ;�. �� ��A�
< &�#�"%�#�"��#"0 �����%" Z(·) # !%"��#" ;�. �� �D<. " � � %�
!�"��$��� � �#
( �����! � �"$"����( B0��# �" �����%
 8	C9� @��� �"����# . � �#
( �����!
5� ( �����%
 � �� �� �$ *���� λ+ μk, . . . , λ+ μ1� �� !�%" � �"$"#"�
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��-��"# $ &���� ���	
	���
 �������	 �
����� 8	9 ������
��" ,���	 ������	�����
��������� λ(R) �
����� 8	9 ��
 �����
�����! ������
��! �����
��
�	�
���! ��
���
���
�! �� ��-**
�
����� ����	�	�� �� ���������� R

n
� ���! ������������! �� ��
�	��	�
�

�	'���� 

 n �
���� ��
 -��� ��� �	����� Δ > 0 �	������ �	��� � = �(Δ) > 0� ��� ��� ��'���
δ ∈ (0,Δ) 
���� ����� �������
� Oδ

(
λ(A)

) ⊂ λ(R�δ)"

�  � " $ " � � � � � � �  � � �  ��������� � �� !�% ( 	 � ��! �% �!� '!"$ �"#�� B0��# 2
�" 8
9. �!�� �0+�� �����%� 8	9 � ���� 8G9� �$ 8�9 � 8G9 �������. *� 

D(m) = L(m+ 1)A(m)L−1(m). 8	
9

����� Δ > 0 &����! �"# � �
'�!�% �! �$� ��# � δ ∈ (0,Δ) � �! �$� ��#
( #"' ! *����
ν = (ν1, . . . , νn) ∈ Oδ

(
λ(A)

)
�  ' $#"*�% μj = νj−λj(A). j ∈ {1, . . . , n}� � 4�" |μj| < δ �!� ���, j�

="&����!��% i ∈ {1, . . . , p}� ��0 �"1� 4 i ∈ nj �%��� %��� !"��#��� μj = νj−Λi(A). � 5� %�
*���" μj . j ∈ ni. �� !0� *�#
 � � $!"��"#�3� �� !0� *�% �, � �'
�"#�3 � � ��*�##
(
#"' ! *����  ' $#"*�% ηj . j ∈ ni� ����� Hi � ��"4 #"��#"0 ni × ni2%"�!�-". ��"4 #"��#
�
5��%�#�
 � � ! ( � ��"�"3� � eηj . j ∈ ni� � 4�" %"�!�-" H

.
= diag

(
eη1 , . . . , eηn

)
� ��"�"�� �

'� *# 2��"4 #"��# ( %"�!�-�( diag(H1, . . . ,Hp)� E"��% �!�% %���������"���# � $%�+�##�3
�  �# :�#�3 � 8G9 �����%�

ψ(m+ 1) = D(m)Hψ(m), m ∈ Zm0 , ψ ∈ R
n. 8	�9

F� �����%" � '� *# 2��"4 #"��# ( %"�!�-�(. ��"4 #"��#
� '� �� � � ! ( � #�1#�� �!�2
�4 ��#
� %"�!�-
 Di(m)Hi. i = 1, . . . , p� E"��% �!�% &�#�"%�#�"��#�3 �����%� !�:�#�(
Ψ(·) = {ψ1(·), . . . , ψn(·)} �����%
 8	�9. �"��3. *� Ψ(m0) = E� �"� �"� %"�!�-" �����%
 8	�9
'� *# 2#�1#��!��4 ��#"0. � �"��3 1� ��!����!� �%��� � Ψ(·)� �$ � �"$"�������" �� !�%
 �
�������. *� λ[ψj ] = ηj+Λi(A)

.
= βj . j ∈ ni. i ∈ {1, . . . , p}� ="%���%. *� #"' ! *���� {β1, . . . , βn}

� ��"�"�� � #"' ! % {ν1, . . . , νn}. # �� ! ( #"' ! �� !0� *�# � � $!"��"#�3� �! %� � 4 .
��0 �"1� 4 i ∈ {1, . . . , p} #"' ! {βj}j∈ni � ��"�"�� � #"' ! % {νj}j∈ni . # ��!�
( �� !0� 2
*�# � �'
�"#�3. " �� ! ( � � $!"��"#�3� 6��3�" �������. *� max

j∈ni−1

βj � min
j∈ni

βj �!� ���,

i ∈ {2, . . . , p}�
� �"1�% #��1�%"�% ��� Ψ(·)� �$ #�� '���� ���� �"�� # !%"��# ��� Ψ(·) � � . *� � �#
(

�����! � �"$"����( B0��# �" � $%�+�## ( �����%
 8	�9 � �� �� �$ *���� ν1 � . . . � νn�
��(��������# . !"��% �!�% �! �$� ��#�3 #��!���"��#�3 ��#�(#�3 � %'�#"-�3 �, �02

+�, � Ψ(·) !�:�#�(I ψ(·) =
n∑

j=1

γjψ
j(·)� ����� k ∈ {1, . . . , n} � �! �$� ��# . �!�*�% k ∈ ni�

6' $#"*�% Ik
.
= {j ∈ ni : j � k}� �"� �"� Ψ(·) '� *# 2#�1#��!��4 ��#"0. � ��0 k2( �  !��2

#"�
 !�:�#�0 ψ(·) �%��% !"��#��� ψk(·) =
∑
j∈Ik

γjψ
j
k(·).  ����" λ[ψk] � max

j∈Ik
λ[ψj

k] � max
j∈Ik

λ[ψj ]�

����� s ∈ {1, . . . , n} � #"�' ��:�( �#����. ��0 � � ! 4 γs �= 0. � ����� s ∈ ni0 � >"(��%
#"�%�#�:�( �#���� l ∈ ni0 . ��0 � � ! 4 γl �= 0� � 4�" max

j:γj �=0
λ[ψj ] = βl� ��0 � �"$"�������"

#��1�%"�% ��� Ψ(·) #"� ���"# ����. *� λ[ψ] = βl� � �"% % ����. λ[ψk] � max
j∈ni0−1

βj � βl �!�

���, k ∈ {1, . . . , l−1}� ��0 �  !��#"�
 ψl(·) ��!"������
 !"��#���" ψl(·) =
∑
j∈Il

γjψ
j
l (·) = γlψ

l
l(·).

� 5� %� λ[ψl] = λ[γlψ
l
l ] = λ[ψl

l ] = βl� >"� #�-. �!� k ∈ {l+1, . . . , s}I λ[ψk] � max
j∈Ik: γj �=0

λ[ψj ] = βl.

@��� �"����# . λ[ψ] = max
k=1,...,n

λ[ψk] = βl� �"��%  '!"$ %. &�#�"%�#�"��#"0 �����%" !�:�#�(

Ψ(·) #��1�%"�%". � � �#
( �����! �����%
 8	�9 � �� �� �$ *���� ν1 � . . . � νn�
� �����%� 8	�9 �!�%�#�%  '!"�# � �!� '!"$ �"#�� B0��# �" ψ = L(m)y� � 4�". � �*�� %

!"��#���" 8	
9.

y(m+ 1) = L−1(m+ 1)ψ(m + 1) = L−1(m+ 1)D(m)Hψ(m) =



6 �����!"��# % %# 1����� ��#�(# ( ����!��# ( �����%
 ��

���������� ��	
� �� �
� �
�� 	

= L−1(m+ 1)L(m+ 1)A(m)L−1(m)Hψ(m) =

= A(m)L−1(m)Hψ(m) = A(m)L−1(m)HL(m)y(m), m ∈ Zm0 .

� � 1�%
R(m) = L−1(m)HL(m), m ∈ Zm0 . 8	G9

�$ � �# (  4!"#�*�## ��� %"�!�-
 B0��# �" L(·) � #��
! 1��## ��� H �
���"�� � �#"0
 4!"#�*�## ��� %"�!�-
 R(·)� �"��%  '!"$ %. �%��% � �����% %���������"���# � $%�+�#2
#�3 �  �# :�#�3 � 8	9 �����%� ���" 8�9� �"� �"� �!� '!"$ �"#�� B0��# �" � ,!"#0�� � �#
(
�����!. � � �"$"���� B0��# �" � ��! �## ( �����%
 8�9 � 5� #"' ! *���� ν1 � . . . � νn�

����� l
.
= sup

m�m0

(‖L(m)‖ + ‖L−1(m)‖)� 6' $#"*�% � = �(Δ) = l2(eΔ − 1)/Δ. � �"1�%. *� 

� ��! �##"0 %���������"���# � $%�+�##"0 �����%" 8�9 �!�#"���1�� ��"��� R�δ� ��(����2
����# . �$ !"��#���" 8	G9 � ��*"�%. *� R(m)−E = L−1(m)

(
H−E)

L(m), � 5� %� sup
m�m0

‖R(m)−
E‖ � l2‖H−E‖. �"���. ‖H −E‖ = max

j=1,...,n
|eηj − 1| = max

j=1,...,n
|eμj − 1| � max

j=1,...,n

(
e|μj | − 1

)
< eδ − 1.

="%���%. *� &�#�-�0 f(t) = (et − 1)/t ��! 4 � $!"��"�� #" %# 1����� t > 0� � 5� %� ��0

�"1� 4 δ ∈ (0,Δ) �%��% #�!"��#��� 
(
eδ − 1

)
/δ <

(
eΔ − 1

)
/Δ,  ����" eδ − 1 <

eΔ − 1

Δ
δ.

@��� �"����# .

sup
m�m0

‖R(m)− E‖ < l2
eΔ − 1

Δ
δ = �δ.

�� !�%" � �"$"#"�
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��
�����' YMQZU[\[ \M3[#2LU]MP^ NMP[LU Q]Q\[3� _]LXWPT2 [`XTP[P\Q� X[U\WUOL\MTPQ Ta ZT[bZM[P\Q�

cde' /?f,4� /?f/,

_[\ WQ g` L Z[U\LMP ZNLQQ Ta X[U\WUOL\MTPQ Ta \R[ ZT[bZM[P\ 3L\UM` A(·) aTU L YMQZU[\[ \M3[#2LU]MP^ NMP[LU
Q]Q\[3

x(m+ 1) = A(m)x(m), m ∈ Z, x ∈ R
n,

hR[U[ A(·) MQ ZT3XN[\[N] OTWPY[Y TP Z� M� [�� supm∈Z

(‖A(m)‖ + ‖A−1(m)‖) < ∞� iR[ QX[Z\ULN Q[\ Ta
\RMQ Q]Q\[3� ZTUU[QXTPYMP^ \T L ^M2[P ZNLQQ Ta X[U\WUOL\MTPQ� MQ L ZTNN[Z\MTP Ta LNN _]LXWPT2 QX[Z\UL jhM\R
3WN\MXNMZM\M[Qk aTU X[U\WUO[Y Q]Q\[3Q� hR[P \R[ X[U\WUOL\MTPQ ULP^[ T2[U \RMQ ZNLQQ LNN� iR[ 3LMP L\\[P\MTP MQ
XLMY \T \R[ ZNLQQ R Ta X[U\WUO[Y Q]Q\[3Q

y(m+ 1) = A(m)R(m)y(m), m ∈ Z, y ∈ R
n,

hR[U[ R(·) MQ ZT3XN[\[N] OTWPY[Y TP Z� LQ h[NN LQ M\Q QWOZNLQQ[Q Rδ� hR[U[ supm∈Z
‖R(m)− E‖ < δ� δ > 0�

lTU LP TUM^MPLN Q]Q\[3 hM\R Q\LON[ _]LXWPT2 [`XTP[P\Q� h[ XUT2[ \RL\ \R[ QX[Z\ULN Q[\ λ(R) Ta ZNLQQ R
ZTMPZMY[Q hM\R \R[ Q[\ Ta LNN TUY[U[Y LQZ[PYMP^ Q[\Q Ta n PW3O[UQ� cTU[T2[U� aTU LP] Δ > 0 \R[U[ [`MQ\Q LP
� = �(Δ) > 0 QWZR \RL\ aTU LP] δ < Δ \R[ QX[Z\ULN Q[\ λ(R�δ) ZTP\LMPQ \R[ δ#P[M^ROTURTTY Ta \R[ _]LXWPT2
QX[Z\UW3 Ta \R[ WPX[U\WUO[Y Q]Q\[3�

mKlKmKneKd

+� ([3MYT2MZR o�p� )P L ZUM\[UMTP Ta Q\LOMNM\] aTU YMq[U[PZ[ [rWL\MTPQ� ������ ������� +?4?� 2TN� .� PT� 0�
XX� +-A0B+-.. jMP mWQQMLPk�

-� sLMQRWP *�o� ������
 � ��������
� �������� j(MQZU[\[#\M3[ Q]Q\[3Qk� cMPQS' *PQ\M\W\[ Ta cL\R[3L\MZQ
Ta \R[ nL\MTPLN fZLY[3] Ta dZM[PZ[Q Ta p[NLUWQ� -,,+� A,, X�

/� *tTOT2 n�f� _MP[LU Q]Q\[3Q Ta TUYMPLU] YMq[U[P\MLN [rWL\MTPQ� �� ���! �" ������ #��$�����%�� +?04� 2TN� .�
MQQW[ +� XX� A4B?4�

A� oMPT^ULY m�K� )P \R[ Z[P\ULN ZRLULZ\[UMQ\MZ [`XTP[P\ Ta L Q]Q\[3 Ta YMq[U[P\MLN [rWL\MTPQ� #��� �&�
'(� ��)� +?.0� 2TN� A-� PT� -� XX� -,0B--- jMP mWQQMLPk�

.� cMNNMTPQRZRMST2 o�c� uUTTa Ta L\\LMPLOMNM\] Ta Z[P\ULN [`XTP[P\Q Ta NMP[LU Q]Q\[3Q� ��&� #��� *$�� +?4?�
2TN� +,� PT� +� XX� ??B+,A jMP mWQQMLPk�

4� cMNNMTPQRZRMST2 o�c� mTOWQ\ XUTX[U\M[Q Ta NMP[LU Q]Q\[3Q Ta YMq[U[P\MLN [rWL\MTPQ� ������ ������� +?4?�
2TN� .� PT� +,� XX� +00.B+0HA jMP mWQQMLPk�

0� p]NT2 p�l�� *tTOT2 n�f� n[Z[QQLU] LPY QWbZM[P\ ZTPYM\MTPQ aTU Q\LOMNM\] Ta ZRLULZ\[UMQ\MZ [`XTP[P\Q Ta
NMP[LU Q]Q\[3� ������ ������� +?4?� 2TN� .� PT� +,� XX� +0?AB+H,/ jMP mWQQMLPk�

H� p]NT2 p�l�� oMPT^ULY m�K�� sUTO3LP (�c�� n[3]\QSMM o�o� +����
� ,���-���!�� .
�, ���� jiR[TU] Ta
_]LXWPT2 [`XTP[P\Qk� cTQZTh' nLWSL� +?44� .04 X�
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pLPQRZRMST2L *UMPL nMSTNL[2PL� uTQ\#sULYWL\[ d\WY[P\� ([XLU\3[P\ Ta (Mq[U[P\MLN KrWL\MTPQ� vY3WU\ d\L\[
vPM2[UQM\]� WN� vPM2[UQM\[\QSL]L� +� *tR[2QS� A-4,/A� mWQQMLJ
fQQMQ\LP\ _[Z\WU[U� ([XLU\3[P\ Ta wM^R[U cL\R[3L\MZQ� *tR[2QS d\L\[ f^UMZWN\WULN fZLY[3]� WN� d\WY[PZR[#
QSL]L� ++� *tR[2QS� A-4,4?� mWQQML�
K#3LMN' OLPQRRMST2L�MUMPLV3LMN�UW

uTXT2L d2[\NLPL nMSTNL[2PL� (TZ\TU Ta uR]QMZQ LPY cL\R[3L\MZQ� w[LY Ta \R[ ([XLU\3[P\ Ta (Mq[U[P\MLN
KrWL\MTPQ� vY3WU\ d\L\[ vPM2[UQM\]� WN� vPM2[UQM\[\QSL]L� +� *tR[2QS� A-4,/A� mWQQMLJ
_[LYMP^ m[Q[LUZR[U� ([XLU\3[P\ Ta (]PL3MZLN d]Q\[3Q� n�n�xULQT2QSMM *PQ\M\W\[ Ta cL\R[3L\MZQ LPY
c[ZRLPMZQ� vULN pULPZR Ta \R[ mWQQMLP fZLY[3] Ta dZM[PZ[Q� WN� d� xT2LN[2QSTM� +4� y[SL\[UMPOWU^� 4-,??,�
mWQQML�
K#3LMN' XQVWPM�WY3�UW


